Name:

1+10 =

11+7 =

3+12-=

16 + 2 =

Addition within 20 (Sheet 1)

[+ 7/ =

3+8-=

9+6 =

11+9 =

CorbettmOtths
primary

13+D

18

[ )+6:=12

[ )+14-14

8+( |

There are 9 marbles in a bag.
8 more marbles are added to the bag.
How many marbles are there in the bag?

-



Name:

8+ 8=

9+3-=

5+9-=

5+ 14 =

Addition within 20 (Sheet 2)

6+7 =

6+5-=

8 +12 =

12 +7 =

Corbettmotths
o primary

2+:]=13
[ )+5=16

[ )+e=16

8+( ] =20

A plum cost 8p
An apple cost 11p

How much does a plum and an apple cost?

L v




Name:

9+9-=

8+D-=

5+ 14 =

14 + 6 =

Addition within 20 (Sheet 3)

7+9-=

2+ 15 =

8 +10 =

13+5=

CorbettmOtths
primary

3+ )=15
[ )+a=19

[ )+9=20

7+ ]

There are 4 people on a bus.
13 more people get on the bus.
How many people are now on the bus?

-



Name: Addition within 20 (Sheet 1)
- IR

1+10 = z 747 - E

11+7= (18 3+8= (11

3+12=E 9+6 = E

16+2=E 11+ 9= E

13+ (5 ] = (0 ) +14=14

(6 )+6=12

8+(7 ]

There are 9 marbles in a bag.

8 more marbles are added to the bag.

How many marbles are there in the bag?



Name: Addition within 20 (Sheet 2)
* Cogtt)ﬂ?"trfgn(;cths

8+8= |16 6+7= |13

9+3= |12 6+5= |11

b+9= |14 8+12=120

Bb+14 =19 12+7 =119

2 + 11|=13 |10 +6 =16

|11 +5:=16 8+[12 | = 20

A plum cost 8p
An apple cost 11p

How much does a plum and an apple cost?

(19 p]




Name: Addition within 20 (Sheet 3)
* Cogtt)ﬂ?"trfgn(;cths

9+9= |18 7+9= |16

8+bH= [13 2+15=117

b+14 =] 19 8+10=|18

14 +6=| 20 13+5=1|18

3+ (12 [=15 |11 +9 =20

|15 +4 =19 7+|9 |=16

There are 4 people on a bus.
13 more people get on the bus.

How many people are now on the bus?
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